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UGC NET Political Science June 15, 2023 Shift 2 Question Paper

2) PART B Subject Paper

Question No. 1/ Question ID 902537 Marks: 2.00

Which of the following websites is a comprehensive website of Citizen Charters of Government of India?

1. www. goecharters.nic.in

2. www. goindiacharters.nic.in
3. www. goicharters.nic.in

4. www, echartersind.nic.in

Proffed § @ PH-8 deure YR TRPR & TR 916 3 Gt 1o g daere &

1. www. goecharters.nic.in
2. www. goindiacharters.nic.in
. www. goicharters.nic.in
. www. echartersind.nic.in
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O 4 (Chosen Option)
4 (Chosen Option)

Question No. 2 / Question ID 902514 Marks: 2.00

Who amongst these is the proponent of the "process model” of social movements in comparative politics?

1. Peter Evans

2. Charles Tilly

3. Dough Mc Adams
4. Ralph A Turner

JOTES ISt § ST sataHt & wibal Hise & warad Hafifad § S aH

1. 9iex 3919
2. TTed fedt
3. U USH
4.qA@F U TR
(|
1
Y 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 3 / Question ID 902532 Marks: 2.00

Who among the following scholars gave the statement that. "In course of time. however (while Nehru was still
alive). the Congress party ceased to be a movement and became a party and government"?

1. James Manor

2. Morris Jones

3. Rajni Kothari

4. Yogendra Yadav
raifara 1 9 forw fagH &1 oyF § o grarss § g9 (G A5 siifdd 9). $IU9 91e] siigiad 9
BIIR UD G0 3R WPR & WY Jgu pR al" |

1. SR HR
2. AR &
3. 35 BIBRI
4. U1l g1gd
O 1
1
Gy 2
2
O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 4 / Question ID 902576 Marks: 2.00
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Chronologically arrange the following books in order of its publication year.

A. Liberty after Freedom

B. Four Essays on Liberty

C. The Constitution of Liberty
D. Two Concepts of Liberty

Choose the correct answer from the options given below:

Jr o arw et & § TE 3T A WA Hifaw:

1.A;B,C,D
2.B,C,D.A
3.C.A.B.D
4.D.C.B.A

0 O O 0
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 5 / Question ID 902553 Marks: 2.00
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Which of the following statement represent the impact of globalisation on terrorism?

A. Globalisation has permitted exchange of ideas and goods which is exploited by terrorist groups.

B. The internet has allowed terrorists to recruit new followers.

C. New technologies allow terrorists to operate in highly distributed network.

D. Insurgent and terrorist groups in Iraq and Syria have not built sophisticated improvised explosive devices
(IEDs) despite global access to resources.

Choose the most appropriate answer from the questions given below:

1.A.B.C & D only
2.B & Conly
3.A.B.Conly
4.A.B.D only

i § B9 A HYF AHHalg UR 3B & YHG B FARe0d BT 8 -

A. %ﬂﬁmm&%mwﬁaﬁ 3R G @1 faf e @1 7 §1 7141 § foraa! WA siddarg
|
B.%%W&mﬁméﬁmﬁﬁaﬁﬁaﬂﬁaﬁ%a
c. 78 venfifedl & SR siddard! siafie fawgd afy® Sead & 307 S &1 918 3R UTd &
D. 3% 3R A1 & faziel 3R sdsard] G afye Jne 1 Suaed S slave 99 [aebles
YN (2% 81) el S UL e

Jrr feu oo Awedl A F T ST & T4 i

1. HAAA. B, 3R D
2. HIAA, BIARC
3. PAAA. B, AR C
4.A.B.3RD

1 (Chosen Option)
1 (Chosen Option)
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Question No. 6 / Question ID 902579

Marks: 2.00
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Arrange the following events of the U.S constitutional development in ascending order:

A. Establishment of the Federal Council of the U.S.A.

B. Introducing the Articles of Confederation of the U.S.A.

C. Addition of Bill of Rights in the U.S. Constitution.

D. 14th Amendment to the U.S. Constitution that guarantees equal protection of laws.

Choose the correct answer from the options given below:

ww o
SRS

B
L

e¥el=T-
Urwy

2 T8 & ST T i Frafiad Teel 31 g wH i arafer i

A. Y, U9, 31 G4ig ulRyg &1 RgA1

B. Y, TH.U. UREY & 3w5g PI I WY

C. Y, . & HiauH § fiUeR A B giford H=A1

D. AR ey F [9fUa] o1 Gu W& &1 TRE e U S Hadl 14 af S2ieT

=y fer av fawedl & § Th IO A 99T A

wwo e

e
LR RRY =S e ey
NnAUw
oo=td g

0 O O D

4 (Chosen Option)
4 (Chosen Option)

Question No. 7 / Question ID 902589 Marks: 2.00
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Given below are two statements:

Statement I: India's foreign remains pre-occupied with concerns about territorial integrity nationhood and
independence of decision making.

Statement II: The structural logic of the global bipolar conflict gets reflected in the regional bipolar conflict
between India and Pakistan.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II 1s correct

HYF-L: HRY e Aifd &g srasar, Agiaan ok Fofg e/ Fofae @1 wdaar & ar 3 giifaaa s
1y gof = 0ur Saw gt 81

HYA-I1: A fgydia o &1 SReers ad YRd 3R Tfewar & &9 &g fgyda Sad & =g gd
yafdfad giar e

IWIF Y & el H, 19 U 70 fasedl & 3 968 Iugad IR &1 994 Piforg:

1. Y1 3R IEH 98 &

2. PYF1 AR 11 SHI TE1 8
3. BYF 1 Tel ©. A S 11 TTad §
4. PYT 1A 8. AP PUT 1 IS B

o 1
1

O 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 8 / Question ID 902583 Marks: 2.00
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Arrange the following political parties in a chronological order according to their year of formation:

A. Samajwadi Party

B. Bharatiya Janata Party
C. CPI (M)

D. Shiv Sena

Choose the correct answer from the options given below:

PRI ek
NNow
P Owo
W o
(ol o i =

fFgifed ToFifa® gal & 3! RIUFE gy & YR 9R HTAHH § aredd Hifoig

A. gHTS@rE! gref
B. YR S=ar gref

C. PR uref o fsan (wreRiardl )
D. fRrad1
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4 (Chosen Option)
4 (Chosen Option)

Question No. 9 / Question ID 902563 Marks: 2.00

Which of the following statements is not correct regarding management according to Peter Drucker?

A. Management is subjective

B. management has a specific role to perform

C. Management is designed for ordinary citizens too

D. Management approves the mechanistic model of organizational management

Choose the correct answer from the options given below:

1. B and D only
2. C and D only
3. Aand B only
4. A and D only

ier SR & SR YR & aR d Faifed § 991 3 Sy 981 6l 6 -

A, Yo Afdas g g

B. vavH 31 fafky yfie &1 Fide s usar g

C. et BT Ao QIR AR & ferg ot gian 8

D. W&t § STsATd® YaY & ifde uey (Few) @ wiefa f g 7

arr e o Reedl A & 88 30T & T HifSw.

1. HIAB 3R D
2. ¥ad C AR D
3. PITAIRB
4. Pad A AR D
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4 (Chosen Option)
4 (Chosen Option)

Question No. 10 / Question ID 902551 Marks: 2.00

Which of the following statements given by Juan Linz and Alfred Stepan are true?

A. Both civil society and political society are complementary to each other.

B. The complimentarity is always recognized.

C. Rule of law is condition for consolidation of democracy.

D. Moderm consolidated democracies have pure market economies only.

E. Modern democracies must have effective capacity to command. regulate and extract.

Choose the most appropriate answer from the questions given below:

1. A.C and E only
2. Aand B only

3.B.C and E only
4.B. C and D only

S s SiR siedbs Wi g1 fau 7Y Fafafad & 9§ #1H-8 By 981 82

A. RIS IS SR I GHTS G Uh-gaR & P & |

B. Rl 94d fRId el ¢ |

c. AR &1 I AedE F TP F WA @ |

D. 31T GAferd didda & Had Y& ToIR SfTaRI A 7 |

E. Sy A § e, faf o oiR 3iee 39t wurd emar giar &)

Arr few o el # & T8 30T & 9T Hif:

1. HATA. C IR E
2. $ITAIRB

3. $ad B, C ARE
4. %AAB, C AR D

1 (Chosen Option)
1 (Chosen Option)

o O QO O
ABE WW NN

Question No. 11 / Question ID 902556 Marks: 2.00
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Which among the following statements is true about rise of alternative perspectives on Indian foreign policy?

A. In the mid 1960s, the Swatantra party presented a classical conservative perspective on foreign policy.

B. It was led by LK. Gujral.

C. The supporters were drawn from former bureaucrats. business community and members of princely families.
D. They united in their opposition to Nehru's Fabian economies.

E. They believed in the forces of the market and private enterprises.

Choose the most appropriate answer from the questions given below:

= Wk =

.D.E only
YR fag ifd R dicas ef®iv & 359 & aR § FHafaiad 8 ®1H-9 U 981 62

A. 1960 % ERP & Tl H WaAdl UTe] A faasr =i IR e Seid ef¥eivn/ gRyed U T |
B. 315. &. TORIA 4 39! Agcd b |

C. 39 GHUP Jd APTe]. oTIR FHa 3R fard IRari & gl 4 i ¥ |

D. d 75E &I Biag srforawisi & faRiy 8 8Tl

E. d §9R qul (ol Soi &t wfdadi R fay sd 4 |

Arr few I RATed # § T8 3T & 99T hifag:

1.HAAA.B.C.D
2. PAdAA.C.D.E
3.%ddB.C.D.E
4. PAAA.B,D.E
O 1

i

2 (Chosen Option)
2 (Chosen Option)

O
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4
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Question No. 12 / Question ID 902539 Marks: 2.00

Who among the following has written the books 'Public Policy Making Reexamined' and Design for Policy
Sciences'?

1. Horlod Lasswell
2. Thomas R Dye
3. Rosolio Peter

4. Yehezkel Dror

ﬁuﬁ%@aﬁ@rﬁmﬁ%uﬁmﬂﬁﬁm-ﬁm@%m%ﬁmﬁmmﬁww EISED
fordi &2

1. SIS argad
2. Y9 ARSI
3. Jaiiferdr diex
4, Tgddd 3R

g O O o
WW NN ==

4 (Chosen Option)
4 (Chosen Option)




WwWw.prepp.in 'repp

Your Personal Exams Guide

Question No. 13 / Question ID 902504 Marks: 2.00

Who has stated that the idea of "praxis" is most clearly developed in a short eleven paragraphs or theses. that
Marx had written to himself in 1845?

1. H. J. Laski
2. B. R Nelson
3. J. Wood

4. R. E Lenser

fgifra 9 fpat By § o I R 1845 ¥ W00 o1 ford 10 oy 7Re ufvesal a1 iy way § Dy
&1 faaR ¥aifte Wyd: gefdd gl 82

1. T4, O, A1
2. & R, A

3.9.93
4. 3R, 3. AW

1 (Chosen Option)
1 (Chosen Option)

@ 9 @ @
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Question No. 14 / Question ID 902525 Marks: 2.00

Which of these postulated the introduction of an elected President in the municipalities?

1. Lord Ripon's Resolution. 1882

2. Lord Mayo's Resolution. 1870

3. Bombay Municipal Corporation Act, 1888
4. Gujarat Municipalities Act, 1964

Faffad d 9 fud gr FRuaesh § Faffaa sieer &1 qR: g Fifea 1§ 3 fad sifingia
[ERIRIDIRIE

1. TS U ¥ ed. 1882

2. A1S 541 §H . 1870

3. a1 (HER) TR e sfafam, 18ss
4. ORI FRUIfDT M, 1964

oy 1
1

sy 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 15 / Question ID 902533 Marks: 2.00
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Who among the following thinkers said that. "The communication of intangible facts. opinions. suggestions
and suspicions that cannot pass through formal channels are communicated through informal channels"?

1. Hebert Simon
2. Max Weber

3. Chris Argyris

4. Chester Bernard

faifara © 9 v [ia® 3 @e1 U1 [ "3rgd a2 Sfimd. g9 SR 9<% 5% siiuane arerdl § 981
St o o Wavdll ©. 3% SR HieAH Wit foar s g

1. BY&C AT
2. A AR

3. forg i
4. TR TS

g L 9 o
WWw MM ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 16 / Question ID 902506 Marks: 2.00

Who among the following thinkers holds the view that no citizen should be sufficiently opulent to be able to purchase another and none so
poor as to be forced to sell himself?

1. Locke

2. Burke

3. Rousseau

4. Kant
frafafaa & 3 f5d faars s1ag ad § &, 318 oft ARk sa-1 siftres oFft =1t g =nfe i o fanddt R & @die & wem gt
ST, 3R B Za1 e 7T 81 b 3@ St 99 9 8 A% ST a3

1 (Chosen Option)
1 (Chosen Option)

BB WW NN

Question No. 17 / Question ID 902530 Marks: 2.00
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Which of the following statements does NOT indicate deepening of democracy facilitated by gendering
politics in India?

1. Women participating in politics as a community or group.
2. Articulation of political voice of women.

3. Women from upper caste carrying out a silent revolution.
4. Women getting involved in the public sphere.

fwifed & § fog Fy= T YR H I6HIA BTSSR & YR TR IR 8 & Haaey aidad @1 o
Toigd g @1 =901 gidT 82

1. a1 9Hg & & H AorHid 8§ Afgars &1 yrfier
2. Hfga3 B IS STaTS B Ua SHioufed

3. Fi oiifd 1 Afgersii gR1 7 i foar ST

4, wfgasdl @1 Grdui-e nfafafedl & Sawar

1 (Chosen Option)
1 (Chosen Option)

o O 0O O
B WW NN

Question No. 18 / Question ID 902511 Marks: 2.00

According to Sri Aurobindo the task of "spiritual revolution” is based on

1. Truth consciousness

2. Parliamentary democracy
3. Radical humanism

4. Individualism

i 3RfdE & IR NeATEr® S B1 BT SURG § -

1. =1 daHT

2. G4 didaa
3. 3YAIE HHadG
4, fdadig

1 (Chosen Option)
1 (Chosen Option)

& & 9 B

BB WW NN

Question No. 19 / Question ID 902571 Marks: 2.00
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Tt 1 61 i 1 9 e Pifore
1 II
Match List I with List I CEItE JACGEY IEEN R IGE ARbIEGT
A fp 9 gieel | 1 [P yffer siqurom
LIST I (Thinker) LIST II (Determinates of Foreign Policy) L FI%?T 3‘?@ W@W Hd‘ﬁ
A [K. I Holsti 1. [National role conceptions’ B. [GH1Y Ach3 II. | - ;
B. Ponathan Mercer | II. [Emotion & Cognition-co produce emotions e IWT 3T % =
C. Panice Gross Stein| II1. |Process of Political leaming' C ““dﬂ a8 1L [RTSHIIA® SHERTH S Ffsal
D. |Amold Wolfers | IV. [National security as 'ambiguous symbol’ D. [3RHIcS aichd | IV. [ 3P Udl' B =4 H AP JR&

Choose the correct answer from the options given below: frafafad fadedl d 9 981 3R &1 994 El’ﬂﬁﬂl ;

1. A-I. B-II. C-III. D-IV 1. A-I. B-II. C-III. D-IV
2. A-IL. B-III. C-IV. D-1 2. A-IL. B-III. C-IV. D-I
3. AL B-IV. C-I. D-II 3. A-IIL B-1V, C-I. D-IT
4. A-IV. B-III. C-II. D-I 4. A-IV. B-III, C-II, D-I

1
1

O

)y 2
2

(O 3 (Chosen Option)

3 (Chosen Option)

O 4

4

Question No. 20 / Question ID 902503 Marks: 2.00

fwiferd & 4 1= e qrdy diedd & UatR B

Who among the following thinkers is an advocate of cosmopolitan democracy?

1. Plato i ;}TE;
2. Hegel 2.5
3. Kant 3.9l _
4. S. D. Lawrance 4.TF 3. aRg
o) 1
1
) 2
2
) 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 21 / Question ID 902527 Marks: 2.00

WAy & B9 sifiian R Hiha JaiieR 31 osd 311 4

Limited franchise was introduced by which of these Acts ?

1. Indian Council Act. 1892 L lﬂ'{?ﬂ'& Qﬁ'ﬁl?{ mﬁﬁuﬁ 1892
By AW 2. YR TSR 3HFgH, 1935

2. Government of India Act, 1935 :

3. India Independence Act. 1947 3. YRdIg ez . 1047

4, None of these 4. ?ﬁﬁ?ﬁa‘:@

O O 0 D
WWw NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 22 / Question ID 902554 Marks: 2.00
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Which among the following statements represent the principles of Just War?

A. War as the last resort

B. The purpose of war is revenge

C. War must be declared on the basis of normally acceptable aims

D. A wholesale invasion is a justifiable response to a border incursion

Choose the most appropriate answer from the questions given below:

1.LA
2.A
3. Aand C only
4.A.C.Dand E only
Fafafed & 8 & 91 $YF 1 9 g6 & RSidl &1 giaHiia Sl g2

A SHIIN S FUHGS |

B. G &1 yale wfasity 3

C. g SiHaria: A 9 4 Wier i & YR R o1 9iid a1 o= F1iy)
D. 4G & Baa=4 g1+ F Afd® o g1 =16y

E. JAYd: 9 WR U STHHUN WH IR §H aTdl SHHU &1 arifd s g1

Arr fer o el A & G 30T & T Hifaw.

1. HAAA. C 3R D
2. PIAA, B IR C
3. PAAAIARC

4. PIAA.C,D IRE

2 a o O
WWw NN -

4 (Chosen Option)
4 (Chosen Option)
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Question No. 23 / Question ID 902523

Who among the following is the author of the critical scholarly memoir. "Envoy to Nehru"?

1. Escott Reid

2. Walter Crocker

3. Ramachandra Guha
4. Pratap Bhanu Mehta

"G T A "HD QSIS [dgxigul gfdgd & dae B1F 82

1. Wl s

2. GIeeR TP
3. JTFH TRT

4. VAT YT Hgdl

1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 24 / Question ID 902578

Marks: 2.00
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Arrange the writings of Dr. B. R. Ambedkar in a chronological order:

A. Annihilation of Caste
B. Who were the Shudras?

C. Future of Parliamentary Democracy
D. The Untouchables

Choose the correct answer from the options given below:

1.LAB.C&D
2.B.AD&C
3JAD.B&C
4 AB.D&C

S1. &l 3R SFESHR B T30 DI I BIaishH H Yoaard Hifot:

A. TFRARREE 3H HRe

B. IR & g™ 2

C. TR 31T ifciardest Sammdt
D. & sFcdsd

Frr few arv et F & T IT A TS DI

1.A.B.C3RD
2.B.A.D3RC
3.A.D.B3RC
4.A.B.D3RC

g 2 4O B
WWw MM ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 25 / Question ID 902516 Marks: 2.00

Which of the following regimes of welfare states corresponds to Richard Tittmus's Institutional Redistribution
Model in his three-fold classification of welfare state?

. Anglo-Saxon Regime

. Scandinavian social democratic regime
. Conservative continental regime

. Australian regime

FABR I B FfRad J T &1 91 A9 REs Ceny & TUER 5T & TP &
giefe gfdaRe & s &2

da o b9 =

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 26 / Question ID 902548 Marks: 2.00
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Which among the following statements is true about JP Narayan's plan of reconstruction of Indian polity?

A. He wanted to revive 'swaraj from below’.

B. The basic unit of political organisation would be the gram panchayat.
C. The gram sabha would act as the basis of grass roots democracy.

D. This would also involves establishing an organic link amongst the different units of the panchayati raj.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. Cand D only
4. A. Cand D only

YR 50 a1 & G631 LW, TR0 Ao & §R J e § 9.8 sy ag @

A. IR FEd TR 4 @RI B gAad B B 3 3
B. AGHiae W13 &1 Jayd goTs 91 Yarad gl |
C. T T TR & ADad B YR & 9 H B S

D. U8 Yard I @t fafire sesal & & giefe dey wiftd &3 | of Saw g
3 T aw fawedl § § T I A T9T DA

4 (Chosen Option)
4 (Chosen Option)

Question No. 27 / Question ID 902561 Marks: 2.00
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Which of the two factors enhanced the growth rate of Indian economy in the 1980s as per Arvind Panagariya?

A. Attitudinal change amongst the policy makers.

B. Expert incentives for private companies.

C. Political leadership was skeptical about import substitution industrialization.
D. A more realistic exchange rate policy.

Choose the correct answer from the options given below:

1. B and D only

2.B and C only

3.Dand Conly

4. A and B only
SRfATE TR & IR 1980 & &% H Haifed sifogawin 1 § [ g $RUI & SR YR
foaen ot foe R H 3fS 550

A, Hifa Fafarst & sifigirem afad |

B. fAsht dufaal & fore Fafa wieare |

C. ASHIa® Agd I AT WA= efieRu & R G ol |
D. 3U&TEHd guriiRe fafmg SR i)

e R aw fawedl F § GE 3o & 994 HifAT:

1.%dd B 3R D
2. Fa@B AR C
3. HaAD AR C
4. Pad A AR B

1 (Chosen Option)
1 (Chosen Option)

O O O O

ABR WW NN

Question No. 28 / Question ID 902559 Marks: 2.00
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Which of the following statements is/are correct regarding Supreme Court of India?

A. Under the Arbitration and Conciliation Act 1996. International Commercial Arbitration can also be
initiated in the Supreme Court.

B. The Supreme Court has special advisory Jurisdiction under Article 143.

C. Article 32 of the Constitution gives an extensive original jurisdiction to the Supreme Court with regard to
enforcement of Fundamental Rights.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. Aand C only
4. A.B. C only

HRA & IdH Iad & aR 1 Feif@d § A e sy wg 2/ 82

A HHRH %ﬁ?ﬁ'@ﬁ HfFTH, 1996 B I AP AMUFD Heayn Hi F=aH Ty | 3RY
&1 Tl 31
B. 394 143 & 317 Sy U & U ARy YareeRT AfeiRar 8

C. TfAuH & o=g 32 B Ot AR & ad= & e & I=Ias T1aTe &1 oTus Hifed
HTerBTIRa &1 778 )

#rr e o RFedl # § T8 a0 & 99 hifaw.

1. Had A AR B
2. HBIAB IR C
3. PHad AR C
4. HAA A, B.C

2 9 9 O
WWw NN -

4 (Chosen Option)
4 (Chosen Option)
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Question No. 29 / Question ID 902588

Marks: 2.00
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Economic globalisation promotes prosperity and opportunity for all.

Reason R: Economic globalisation promotes an open. market-based economy that brings social and political
benefits.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true but R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is false but B 1s true
A ) 35U QU 70 ¥ b HABUST (Assertion A) & U F T § o 8T 355 (Reason R) BRI & &7 &,

AR A 38w e, Teafs o a8 & BT R # dicaed ST B

wta: ¥ fieror o8 7F ToR ITURT HTTaE F WcHRS ol © oad AfeS 9 TA-iae e ol

SR HYL & el 3, A1 GT v RBvedl F ¥ Tad 39gd S/ & 99T Difad:

1. A3R RTET T © 3R R, A T AT §
2. a3R rEE T § 3R R, ADT TE e G99 &
3.AF §, Afh R ¥
4. AT & ofhd R ¥
& 1
1
(O 2 (Chosen Option)
2 (Chosen Option)
o 3
O

3
4
4

Question No. 30 / Question ID 902505 Marks: 2.00

Which among the following thinkers can be equated with the statement that. "He proposes an ascetic communication. the purpose of which
18 to remove objects of desire'?

1. Karl Marx
2. Plato

3. Glaucon
4. Polybius

Fafrad o 9§ $1H-91 (@ [GaR® 38 YA & 91Y GHI9d (Bl ol 95dl ¢ [ S8 d194 (TU=dl) STarg & W fadl, [T
SE TV (DI P I a1 I GRS 8?2

1 (Chosen Option)
1 (Chosen Option)

AR WW NN

Question No. 31 / Question ID 902507 Marks: 2.00
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Who among the following scholars had levelled the criticism against J.S. Mill that. "we cannot separate two
different compartments of individual conduct"?

Barker

C.E. M Joad
3.L. T. Hobhouse
4. R. M. Maclver

frafafad fed fagr = 9. vy, fira 1 o=t 3 gg fafed fear & o &0 fed aafd & aafda
3R B faftd ITEST H el gus o Fba” |

L.
2.

1. §THR

2.3 uH. s

3. Tq. 1. gIEersy
4. 3R, TH. APRR

1 (Chosen Option)
1 (Chosen Option)

0 9 Q9 O

AR WW NN
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Question No. 32 / Question ID 902572

Match List I with List IT
LIST I LIST I |
A_ [Politics and Ethics of the Indian Constitution] I |B. L. Shankar and Valerian Rod.rin'uhesl
B. |The Indian Parliament II. [K. C. Wheare
C. |[Federal Government 111 |Rajiv Bhargava
D. [Indian Constitution: Cornerstone of a Nation| IV. |Granville Austin

Choose the correct answer from the options given below:

1. A-III. B-1I. C-1. D-IV
2. A-IILL B-L. C-IL. D-IV
3. A-ILL B-I. C-III. D-IV
4. A-IV. B-III, C-II. D-I

G 1 1 g 11 ¥ e Piforg

1 Ceibtl
A m@mmam 1 [ oa. wia oiR e
B. [a 30844 Ullariie I [ d &R
C. [(hed g-He 111 RTSig 4F1g

- B .

D E’Eﬂw IV. frfarr i
fFrafdRad famedi & T 981 3R &1 9g- Hifog -\

1. A-IIL B-IL. C-L. D-IV
2. A-IIL B-1, C-II. D-IV
3. A-IL. B-1. C-IIL. D-IV
4. A-IV. B-III. C-II. D-I

Marks: 2.00
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o 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
o 4
4
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Question No. 33 / Question ID 902543

others?

A. Rousseau
B. Marx

C. C.Locke
D. Engels

1.B. C. D only
2. A.B. C only
3.A.B.Donly
.Band D only

e,

A =4
B. ATy
c. . d®

D. toleg

1.®4d B, C.D
2. $AAA.B.C
3. %40 A.B.D
4. HaA B AR D
o 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Choose the correct answer from the options given below:

-2 fag g famedl & § el SR &1 90+ DI -

Marks: 2.00

Which among the following thinkers hold the view that. liberty is destroyed because the propertied classes possess the power to dominate

fmifed # @ 5 faare! @1 1d § i wadaar 78 81 91 ¢ aife Suf 993 a7 & U o safdadl IR W@ &1 2 gidl 87

Question No. 34 / Question ID 902509

1. Pandita Ramabai

2. M. N. Roy

3. Dr. BR. Ambedkar
4. Ram Monohar Lohia

Who is the author of the book 'Federation Versus Freedom'?

Marks: 2.00

U® SN a4 WisH & a@d B 87

1. UfEar ER

2.UH. T4.31

3. 31§l 3R FESHY
4. 1 TR difedr
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G

[N G R

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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A. The Negro and language
B. The Negro and culture

Question No. 35 / Question ID 902544

C. The Negro and Psychopathology

.A.B.Conly
. B and D only
.Aand C only
.A.C.D only

B R

D. The Negro and Recognition

Choose the correct answer from the options given below:

S Bv ae Raeedl # § 8 39T & 9949 HifAT:

1. PAd A.B. C
2. $IAB IR D
3. PAAAARC
4. HAAA.C.D

|
1

oy 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Frantz Fanon's book 'Black Skin, White Masks' includes following chapters:

ol Bl &1 T &l b1, gIge U1 § FHfiiRgd Sfeam S &:
A. & 191 wus dEw

Marks: 2.00

Question No. 36 / Question ID 902575

Match List I with List IT
ILIST I (SGD goal number) LIST II (Goals)
A b 1. JAffordable and clean energy
B |7 II. [Life on land
C. |10 111 |Gender equality
D. |15 IV. [Reduced inequalities

i 1 1 Gt 11 9 e Hiforg
I II
U S S @87 HEI qaa:‘u
AP 1 |gea ud W= Sl
B. |7 1L [gedi @R wilad
c. 1o 11 |37 (5183 GHHa1
D |15 IV. [srgaHdrsit @1 &8 d31

-1. B-IL. C-III. D-IV
-II. B-1. C-IV. D-III
-I11. B-1. C-IV. D-IT

1
2.
3
4. A-I. B-III, C-II. D-IV

el

O R

Choose the correct answer from the options given below: fAafaRad [deedl & 3 98l SR S 984 aﬁﬁm :

. A-L. B-II. C-IIL. D-IV
. A-II. B-I. C-IV. D-III
. A-IIL B-I. C-IV. D-II
. A-l, B-III. C-II. D-IV

Marks: 2.00




WwWw.prepp.in

& 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
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Question No. 37 / Question ID 902510

Who said, 'the truth is not that the spirit of conflict and conquest is at the origin and in the center of the
western nationalism'?

1. Swami Vivekanand
2. Rabindranath Tagore
3. M. K. Gandhi

4. Dr. B. R Ambedkar

forem et o1+ T8 I el ¢ o ufddt Ayare & ga ofk Fx § ok ud 6 siren iR fawm Ffka 30

1. W faderg

2. Afa YR
3.TH. &, et

4. 819l 3R . SR

1 (Chosen Option)
1 (Chosen Option)

0o O O 0

ABR WW NN

Marks: 2.00

Question No. 38 / Question ID 902547

Marks: 2.00
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According to Kautilya. which among the following six methods of foreign policy is applied by the would-be
conqueror to the element of his Circle of States?

A. Making peace.

B. Remaining non-violent.
C. Staying quiet.

D. Seeking support.

Choose the correct answer from the options given below:

A.B.C.Donly
A.B. Conly
B. C.D only
4.A.C.Donly

PIfCe & THR. HIdT BT 39 5] & WY arel &7 | faa=1 =1fd & ©: [l d Fafafaa §
fep=am1 wamT FRdl &2

A. ifd TG |
B. TR-3ifewr & fufd §7mu @1
C. 2id |1
D. FHYF U A1
rr few e RAwedl F & §8 30T @ 99 hifae:

1.
2
3

1. A A.B.C.D
2. $aAA, B, C
3.®AdB.C.D
4. PAAA.C,D

1 (Chosen Option)
1 (Chosen Option)

2 C O O

ABE WW NN
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Question No. 39 / Question ID 902550

Marks: 2.00
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Which of the following principles are used to study the 'attitudes of people' i.e political culture in comparative
politics?

A. Riker's strategic principle

B. Converse principle

C. Robinson's principle

D. Gallagher's least square index
E. Rac's factionalization index

Choose the most appropriate answer from the questions given below:

1. B and C only

2. Cand E only

3. Aand B only

4. B and D only
rafaraa o 9 6= Rasidl &1 vait anl @1 SfgRe sl qaed TeFid 8 Ie-iae S&5pid &
er & forg farar mar 22

A. Rer @1 3uFiifae i
B. 3ehH Ryzid

c. a5 31 f¥gid

D. TTETE &1 aH a7 9%
E. Y @] CES B0 Jab

Jr e aw awedt & § Tl 3o & 999 Hif.

1.PaaB AR C
2. PadC ARE
3. PITA IR B
4. $adB AR D

g 9 9 O
WWw NN -

4 (Chosen Option)
4 (Chosen Option)

Question No. 40 / Question ID 902574 Marks: 2.00
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Match List I with List IT

LISTI LIST 11
A_ |Rational choice Theory of Public Admunistration] I. |[Emulates private sector practices
B. [New Public Administration II. |Encourages research in policy analysis
C. [New Public Management II1. [Devices principles and laws of public administration)
D. |Golden Era of Public Administration IV. [Focus of norms and client lovalty

Choose the correct answer from the options given below:

1. A-I. B-IIL. C-IV. D-II
2. A-IL. B-IV. C-1. D-IIT
3. A-IIL B-IL. C-1. D-IV
4. A-IV. B-III. C-II, D-I

it 1 1 gt 1 8 e $iforg

A1 I
[ciieh UTHH @1 [da@ Ul faded Hgid| L [56H il &7 @1 Ugid 1 38R0 [hd 7141 5
SRR E] 11 [39H =ifq-fawermur ® 34y &1 Uidre fodl 191 g
7 il pee 111, [§57 Tl IR & (g AR (9 918 1Y 2|
i URTE @1 %0 1 1v. [g5H ufad= 3R Gardf @1 81 &R §d (641 9idl 6

Faffad faeedl & 9 Ug! SR &1 944 P :

o|o]w]>

-I. B-III. C-IV. D-II
-II. B-IV. C-1. D-III
-II1. B-II. C-1. D-IV
-IV. B-IIL. C-II. D-I
oy 1

1
2 (Chosen Option)
2 (Chosen Option)

O
O 3
O

LA
A
LA
A

3
4
4

Question No. 41 / Question ID 902540 Marks: 2.00

Which of the following Commissions/Committees recommended for the establishment of the Lokpal and
Lokayukta for First time?

1. First Administrative Reforms commission

2. Santhanam Committee

3. A.D Gorwala Committee
4. 174 Pay Commission

FafaRaa E-9- smanT )/ Sfafadl = gl R AT Ud dierad &1 RIT9H1 &1 Sdfd faar ur

1. Y YR GUR SN
2. GYFH S (@)

3. USI. TRara |iffa

4. fa<ita aa= smam

) 1
1

oy 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 42 / Question ID 902565 Marks: 2.00




WwWw.prepp.in 'repp

Your Personal Exams Guide

Which of the following Laws/Rules are restricting the disclosure of official information to the people?

A. Official Secrets Act, 1923

B. Commission of Enquiry Act, 1952
C. Indian Evidence Act. 1812

D. Fifth Pay Commission

Choose the correct answer from the options given below:

1.A.B.C.Donly
2. A.B and C only
3.B. Cand D only
4. A. B and D only

Frafaraa o 9 ®H-41 ) 9 faftal/ Fom die (@F) 3 Seid IR 37 &1 9@ (S\INd) 3 9
yfaefd st &

A. DY / fHIRG Ma-Tgdan sifafaa. 1923
B. SiTd- 31T 3ffUfgH. 1952

C. ¥R g1y a9, 1872

D. U499 3d4 TR

dry fer av fawedl & § TEI IAT A 99T P

1.PAd A.B.C.D
2. HIAA, BIARC
3.%adB.C IRD
4. PIAA. B IR D

o 1
1

O 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 43 / Question ID 902515 Marks: 2.00

"The logic of collective action" explaining the mobilization of interest groups in comparative political analysis
1s given by which of the following scholars?

1. Theda Scokpol

2. Marcus Olson

3. Nicolas Poulatzas
4. Paul Pierson

AP Priars B ad o, JaIe® Aol [a<eyul | fed 9Hgl & SfitpiieH (@medl) 31 s
fafcfad 7 8 fod fagm R ver 31 718 82

1. 431 WpIHU
2. 9T e
3. ey graren
4. Ufa fooedq
(0 |

]

O 2 (Chosen Option)
2 (Chosen Option)

O

O
A ww
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Question No. 44 / Question ID 902513 Marks: 2.00

» R T BUIE TEE TP & 4GP D 67

Who wrote the book 'State in capitalist society

1. Nicolas Poulantzas 1. FpTery s
2. Karl Marx 2. BT 716

3. Rosa Luxemburg 3. Aol AGoHa
4. Ralph Miliband 4. 3P fofcas

@ 1
1

O 2 (Chosen Option)
2 (Chosen Option)

®,
O

B howw

Question No. 45 / Question ID 902562 Marks: 2.00

Who amongst these are meant to serve the shop floor according to Fredrick Taylor's functional foremanship in
his scientific management theory?

A. Speed Boss

B. Repair Boss

C. Route clerk

D. Time clerk

E. Inspection foreman

Choose the correct answer from the options given below:

C.D & E only
B.D & Aonly

3.A.B&Eonly

4.B.A & C only
HeR® TR & THIIHS BREFRY & SHUR WY iR & Jard e § § oH-3 saug o §
foraa! sarem 317 ey Rigia ot

A Tz §y
B. RUmR a9
C. ¥¢ gD
D. T5H T
E. Flem wRAA

JrR feu ot el A d T ST & T i

1.
2.

1. HAAC. D IR E
2. $IAB.D IR A
3. PAA A, B 3ARE
4. PIAB. AR C

1
1

0 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 46 / Question ID 902541 Marks: 2.00
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Which among the following statements are associated with Harold J. Laski?

A. Every state is known by the rights that it maintains.

B. We do not mean by the rights the grant of some historic conditions possessed in the childhood, but lost in
the process of time.

C. Rights in fact are those conditions of social life without which no man can seek in general to be him self
at his best.

D. Rights are the legal opportunities for a successful life.

Choose the correct answer from the options given below:

1.A, B,
2.A.C.Donly
3.A
4, B and C only
fFrafafEd 7 3 31 § By RIS O, R 3 Fa&led 8

A VS 50 G SR SUPRI | ST 9 7
B‘mﬁmmﬁmmmﬁéﬁ%@wﬁmmﬁQWﬂ@m
g
c‘%@azmwwﬁmwﬁam%wmﬁmmwmwm
R TPl
D. HfUBR W Siia fHalg & fog fafde s@ux g

2 feu v fawedi § 9 98 SR &1 947 Sifo:

1.$ad A, B, C
2. $adA.C.D
3. PadANRC
4. BAAB AR C
&) 1
1
(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 47 / Question ID 902590 Marks: 2.00




WwWw.prepp.in 'repp

Your Personal Exams Guide

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : A prismatic society has hetrogenous structures existing side by side and which are diametrically
opposite to each other.

Reason R: The social change in a prismatic society would be inconsistent. incomplete and unresponsive.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A 1s false but B 1s true

ﬂ%gwﬁqwﬁ:WG{PW(AssmionA)%Wﬁﬁi@a%ﬁ‘f@ﬂtﬂ%(r{easmmw%
=04

SfUFYT A: e grurla JOTS T SREH SREA Y-y 3igd H gidl § o f[eaed U g &
it gt 8

PRI R: UG GO & Qo gRad SR, 3ol 3R sraRemt grft |

SWIF Y & el 1, 19 U 7 fasedi § 9 9698 Iuge IR &1 99 Pifg:

1.A3RREHI TUE SRR AT TSt oarem &
2. A SRR GHI 9 & 3R R, A B Geiodred gl ©
3. AT R, AfPTR 3T
4. AT, AMBTR TA R
o1
1
(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
O 4
4

Question No. 48 / Question ID 902586 Marks: 2.00
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Given below are two statements:
Statement I: The socialist movement developed in France in the form of syndicalism.
Statement II: Syndicalism rejects the idea of class struggle.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement II is correct

R FuRTMmE:
DYA-L Wi F H GASATG! 3f<la Joflare & 9 H I g
HYA-11: Juitarg 7 avf Iuy & fFaR & WiedarTgi & s €

IWRIgd Y & el H. 14 U M fadedl & 3 a8 Iugad IR $i 99 Bifoig:

1. PYF 1 AR IeHI Fel 8
2. Y1 AR 11 I Tel &
3. PYT1 Tl §. A S 11 7Tad &
4. PYT 17 8. AP YT 11 TS B

1 (Chosen Option)
1 (Chosen Option)

D 9O o D

ABR WW NN

Question No. 49 / Question ID 902546 Marks: 2.00

If we consider the Gandhian idea of satyagraha as a dialogue. then which among the following statement is
not true?

A. The nature of Gandhi's truth facilitates dialogues.

B. The nature of Gandhi's truth is antithetical to equality.

C. In such a dialogue parties are constructed as the adversary.
D. The quest for truth is a shared exercise.

Choose the correct answer from the options given below:

1. Aand B only
2. C and D only
3.Band C only
4. A and D only

Ife garre & nidiard! fuR @ te dae & 9§ 3H1 91a ¢ 9 FEfafad § oF-3 $YE 981 T8l 82

A, TITef} & 9 1 WG=Y HaIg &I I S § |
B. Tiieft & U &1 WU HHE &I faRid B
c. 08 Fare A, g9 e o & fAfifa fpu o €
D. I P TS U JIZ1 W1 8

Arr feu e RAdedl F & §8 W @ 99 difs:

1. Pad A 3R B
2.¥%ad C AR D
3. HIAB IR C
4. Pad A ARD
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A. Right to Information Act
B. Consumer Protection Act
C. Right to Education Act

D. Lokpal and Lokayukta Act

1.B.A.D.C
2.48,C.D,B
3.A.B.C.D
4.C.A.D.B
o 1

1
O 2

2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Place the following legislative acts in chronological orders:

Choose the correct answer from the options given below:

0ppw

S i
> 0P

voopo
WO wo

O 1
1
o)y 2
2
& a3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 50 / Question ID 902567 Marks: 2.00
Tl 1 1 G 11 8 e Siforg
Match List I with List IT el gél
LIST I (Books) LIST II (Authors) A |30 9o 1 IB?IT 3T
A_[On Violence 1. |Hannah Arendt B [ 1S R ﬂ‘ e v
B. [Reason and Revolution I1. [Herbert Marcuse - -
C. |Where do we go from here I11. [Kirk Russell C |%ﬂ?‘§ iﬂ:ﬁ Eﬁﬁi %uf 1. [fod T
D. [The Conservative Mind- From Burke to Ellio] IV [Martin Luther King Jr] | D- |G #ORdIcd AI3S W1 8 ¢ 3fcre | IV. [ATfT R fd71 AR
Choose the correct answer from the options given below: fFafafed feedl & 9 98 SR &1 994 aﬁﬁlﬂ .
1. A-L. B-II, C-IV. D-III 1. A-L B-IL. C-IV. D-III
2. A-III. B-IV. C-II. D-I 2. A-IIL B-IV. C-II. D-I
3. A-L. B-II. C-III. D-IV 3. A-L. B-II, C-III. D-IV
4. A-IV, B-III. C-I. D-II 4. A-IV. B-III. C-1. D-II
& 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 51 / Question ID 902585 Marks: 2.00

fraferad faurdt sifefaw o1 SrasauR safiyd Sifon

A. g1 D1 HUBR fafan

B. IUHIGT TR& ifefan

c. FRign 1 ffvdR siffray

D. WipuTd AR diergad sfafan

J1 Bw v RAweul & F TE IR @ T AT

Question No. 52 / Question ID 902519

Marks: 2.00
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Which of the following agreements does not outline country-specific emission targets but emphasises on
climate change mitigation?

1. Kyoto Protocol

2. Law of Sea Treaty

3. Montreal Protocol

4. The Paris Agreement

frafaraa @ SH-a1 gusiar Sw-afky Sen el dath wuvar 78t Ruffa s s o saary
Rad SULH R g9 ST 2|

1. T Weipla

2. gl iy Hed fafy
3. Hifead WieisTa

4. UG o

@ 1
1

oy 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 53 / Question ID 902502

Who among the following has defined delibrative democracy in terms of pluralistic association?

1. G.C. Sen

2. A Hanson

3. 1. Cohen

4. P. Samuelson

frifera & @ frgia fonsil dieda 3 ufoum sga ol de F = d i &

1. o3 39
2. 0. 89
3.9 ®led

4. 41 g

1
1

iy 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 54 / Question ID 902517

Marks: 2.00
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Who among the following political thinkers reformulated the principle of realism by Hans J. Morgenthau from
a feminist perspective?

1. Gunder Frank

2. Janet Abu

3. Ann Tickner

4. Hannes Peltonen

FafaRad feg IoFiae RS 3 ARIGR] RS0 ¥ 89 o 3RS R 4dd guriag & faidl &f
IRiAss fpan

O

O 2 (Chosen Option)
2 (Chosen Option)
o 3

O

3
4
4

pPrepp
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Question No. 55 / Question ID 902501

Which among the following rights is not group right. according to Will Kymlicka?

1. Self government rights

2. Polyethnic rights

3. Special representation rights
4. Right to speedy trial

foet fopmfere & sFER Faifed & 3 o @ sfier amfes 78§ -

1. G It SeR

2. §g oAy PR

3. TRy wiaffe SieR
4. @Rd faarRu @1 PR

) 4
1

oy 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 56 / Question ID 902566

Marks: 2.00
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Tt 1 1 T 1 ¥ A it

Match List I with List IT -’"Fﬁ 1

ILISTI (Books and Concepts) LIS'II]'{II ﬂﬁnkers) A m G{TEF P L feree
— e B_[Hegor Uiicies | I [orie ffer
. |Sexual Politics II. |Carol Gilligan — =
C. |Powers of Horror II1. Jlulia Kristeva C. [orad arrm__'e:m (1 {15! I...I EASE]
D. [Ecriture Feminine IV. [Helene Cexous D. Ef?ﬁ?l? W I\'.[%‘a:[ ﬁ’@ I

Choose the correct answer from the options given below: fAafafad fasedl O 3 98l SR &1 9a4 aﬁﬁm :

1. A-L B-IL. C-IIL D-IV 1. A-I. B-IL, C-III, D-IV
2. A-IV, B-IIL C-I1. D-1 2. A-1V, B-IIL C-I1. D-I
3. A-IL B-IL. C-IIL. D-IV 3. A-Il. B-I. C-III. D-IV
4. A-I1. B-IV. C-1. D-III 4. A-I1. B-IV., C-I. D-III
o1
-
o 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

pPrepp
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Question No. 57 / Question ID 902522

Who among following Prime ministers spoke about India's approach towards the US and Soviet Union drifting
towards a cold War as

"They are our neighbors in Asia and inevitably we shall have to undertake

many common tasks and have much to do with each other"

1. Jawaharlal Nehru

2. P.V. Narsimha Rao
3. Atal Bihari Vajpayee
4. Manmohan Singh

Frafarad wuHEEl 8§ 9 e saRie! iR Hifdad Y & d19 9d Xid 3G @1 [dfd § YRd & ePai
asmi‘%jf%ﬂ%éuﬁmﬁmm% IR g afarda: sF® 90F o/ 334 g1 SR TH-qWR &
1Yy J

1. STATGRAT 16

2. 4. di. Riye13@
3. 3fcd fagrdl aredt
4. 7HIEA g

1

1

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Marks: 2.00

Question No. 58 / Question ID 902577

Marks: 2.00
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Arrange the following chapters of Leviathan in correct sequence:

A. Of sense

B. Of imagination

C. Of reason and science
D. Of speech

Choose the correct answer from the options given below:

Onww
PoOyg
W N

B
‘0P Op

A B I

B. 3% gAY

C. 3Tp o UUs 9y
D. =

JF o aw Qe F § T IR # T HIiaT-

B
npop
w00
W PN

0 & g B

4 (Chosen Option)
4 (Chosen Option)

Afaary= g&ae & FafciEad sl o 9l 3shH J oudiyd Hifig:
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Question No. 59 / Question ID 902508

1. Plato

2. Aristotle

3. Confucius

4. Hannah Aredent

famfor svd|

1 (Chosen Option)
1 (Chosen Option)

B WW NN

Who has stated that. if life only were the object. slaves and brute animals might form a state?

T35 (e $YA § [, 9l i &1 Haa T U@ 354 Bidl. dl &N SR PR AHGR a4 6l U@ 9 Bl

Marks: 2.00

Question No. 60 / Question ID 902558

Marks: 2.00
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Which of the following statements is/are correct regarding parliamentary proceedings?

A. Starred questions requires an oral answer and supplementary questions can follow.

B. Short notice question is asked by giving a notice of less than 2 days.

C. The Adjournment motion needs the support of 50 members to admit it.

D. The Zero hour starts immediately after the question hour and lasts until the agenda for the day.

Choose the correct answer from the options given below:

1.A.B.Cand D only
2. A.Cand D only
3.Band D only

4. A. B and C only

GGy Briarg & Gy § SiH-91 Fefafad sy wei g/ 8

A. Rifd 4l & MfE® IR U d § 3iR ) wsil & ot sH@1 3Rl foar s 9o ar 8
B. mmuﬂzﬁqqﬁmmqﬁaﬁ?

C. R WETE & o 50 921 & GRI 54 14d] AU IH &1 Sawgadl eidl 61

D. YAPIT B YR ATd FHPTe & id 814 &l 9l & AR &7 4R & oy Sl de g =rerdl I8l 81

A few ore Awedl A F T AT & T DA

1. PAAA. B.C AR D
2. $GAA, C IR D
3. Had B AR D

4. HITA, BIRC

5 L
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 61 / Question ID 902520 Marks: 2.00

The idealist school of thought in international relations proposed to replace' balance of power’ by-

1. Secret diplomacy
2. Disarmament

3. Autocratic rules
4. War

SiaRRigTa e 7 ife &1 Sgae Hawfid $xA & g wRarfad seRiard! faaR &1 a4 :

I,T?{Ta:ma
2. R
3. ORI I
4.9&
o1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 62 / Question ID 902536 Marks: 2.00
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1. F W Taylor

2. Elton Mayo
3. Chester Barnard
4. H. Simon

fafafaa 3 g e 7 9-fae sifa $1 s@uRn &1 uwT far ur

1. T%. &Y, ¢
2. Ueed 741
3. TR S
4. T HIEHA

1 (Chosen Option)
1 (Chosen Option)

-

o O O O

ABE WW NN

Who among the following thinkers proposal the concept of "Mental Revolution"?
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Match List I with List IT

Question No. 63 / Question ID 902568

List I

List IT

Rabindranath Tagore L

[True freedom

J.P. Narayan 1L

|Chaukhamba Model

Ram Manohar Lohial ITL

[Hindu Rashtra

=] o] o] g

V. D. Savarkar | IV,

Sampurna Kranti

A-L. B-III. C-IV. D-II
A-IIL. B-IV. C-II. D-I
A-I. B-IV. C-II. D-IIT
A-IV, B-I. C-III, D-IT

@ 4
1

) 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

i A
2
3.
4.

T 1 1 et 1 @ v g

T I
Rias A SR | 1 [arafa® / I=di Waddl
o Ut 9rmur | 1. [Brder Atsa
. [ HAER e | 1 R 3w
[ St grRax | 1V [du wifd

olo|w|>

Choose the correct answer from the options given below : fafafad faeedl 9 9 981 IR &1 94 Efﬂﬁﬂl y

1. A-I. B-III. C-IV. D-II
2. A-IIL B-IV. C-II. D-I
3. A-L. B-IV, C-II. D-III
4. A-IV, B-I. C-III, D-II

Marks: 2.00

Question No. 64 / Question ID 902529

Marks: 2.00
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origins"?

. Ashutosh Varshney
. Louisie Tilllin

. Paul Brass

. Suhas Palshikar

o =

=

1 (Chosen Option)
1 (Chosen Option)

ABR WW NN

Who among the following scholars has written the book "Remapping India: New states and their political

-0t £33 el Us 3R uifafesd SiRsi-g" 9e g5d [Bad! $id o :
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Question No. 65 / Question ID 902569

Match List I with List IT

LIST I (Concept/ Theory)

LIST II (Proponent)

. [Critique of rational choice institutionalism's advocacy of universal generalizations

i

Campbell & Pederson

- [Study of institutional change in skill regimes in Britain, Germany. Japan and the US

II.

Scharph

(o] [o] Lo=] Je=2

. |Origins of sociological mnstitutionalism

II1. |Kathleen Theleen

. [Discursive institutionalism

IV. [Mever and Rowan

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-1. D-III
2. AL B-IV. C-I. D-IT
3. A-IL. B-III. C-IV. D-I
4. A-I, B-II. C-III, D-IV

G 1 1 G 11 ¥ e Siforg
s e k-

[aequl fadey JwmEr & JaHits

A- it & e @ el 1 [ o s

(e, 91, STUH AR RGBT H DI -
E‘Zﬁﬂ?ﬁq

B- lraiey 3 Wi uRad @ e

C. [FHSRIRA GRUTEIG & Jd IIL.
D. [dhHqci® SRIEG IV. [HaR 3R a4
fafarad fdeedl & 3 98l IR &1 954 Sifo -

1. A-II, B-IV. C-1. D-III
2. AL B-IV. C-1. D-IT
3. A-IL, B-IIL. C-IV. D-I
4. A-I. B-II. C-III. D-IV

Marks: 2.00
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4 (Chosen Option)
4 (Chosen Option)

Question No. 66 / Question ID 902555 Marks: 2.00

Which among the following constitutes membership criteria of the NAM?

A. The country should support national independence movements.

B. The country should be a member of multilateral military alliance concluded in the context of great power
conflicts.

C. The country should have adopted an independent policy based on co existence of states

D. If the country has granted military bases to a foreign power, the concession should be in the context of
great power conflicts.

Choose the most appropriate answer from the questions given below:

1. Aand B only
2. Aand C only
3. Aand D only
4.B. C and D only

e ROy < Bt ewdl & IFe FEfif@d B S

A. 3T & TP WA A1 BT YA BT AR

B. ¥ & HEIG 9N & g H, 3% B dg%R1g U= 664 $I TP Y g1 9y |

C. T8 o Sl IS41 & He- KT R Bid Wi Hifd B IR gl |

D. ;R;ﬁz?éz@ﬂwﬁﬁm YR RT3 31 WPfa a7 7. A el a1 Juuf & gef #, 38 ge
|

Arr few e el # § §6 30T & 99T hifa:

1. Pad A AR B
2. PATAIRC
3. %Had A AR D
4. %IAB, C ARD

i) I
1

2 (Chosen Option)
2 (Chosen Option)

o)
O3
O

3
4
4

Question No. 67 / Question ID 902581 Marks: 2.00
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Arrange the following peacekeeping operations in chronological order:

A. UNAMID in Darfur

B. UNMISS in South Sudan

C. UNAMIR in Rwanda

D. UNPROFOR in former Yugoslavia

Choose the correct answer from the options given below:

1.A.B.Cand D
2.B.C.Aand D
3.D.C.Aand B
4.C.D.Band A

Fafeiaa i<y RIg=T Siftrl &1 Siepd & HTER Yoareyd Hifeg:

A SRAYEAUTH 315 St

B. f&i01 g # 07 UH 31 TH T

C. XqiST H g T Y TH 31T 3R

D. Jd Zriiiaan # g T Ui R 37 U 3ff R

=y 2w av fwedl & § TE IA A TAT A

1.A.B.C3RD
2.B.C.A, 3RD
3.D.C.A3RB
4.C.D.B3RA

1 (Chosen Option)
1 (Chosen Option)

o 6 SN o B o

BB WW NN
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Question No. 68 / Question ID 902521

Which among the following countries is not a member of NAM?

1. Burkina Faso
2. Angola

3. Cameroon

4. South Sudan

Faffad §  $H-91 3 UF. U W, (¢ FRUe-TY) &1 e 3% T8 82

1. &1 Bl
2. 3T
3. PIRA
4. &I gSH
o1

]

&y 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 69 / Question ID 902582

Marks: 2.00
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Arrange the following Committees /Commissions on local governments in chronological order:

A. G.VK. Rao Committee
B. Ashok Mehta Committee
C. Thungon Committee

D. L M. Singhvi Committee

Choose the correct answer from the options given below:

il vl
> o
nwr U
SR-Re
wonOw

Qg I © geftd Hafctad afifagt / sman of SrabharuR ¢71 ¥ oafRid Hifog)

A. Sf &t & g affa

B. 3R Hedl |iHfd

C. 47 9fAfd

D. Udl. tH. Rbual 9fafd

=y fer arv fawedl & § TE IO & 99U A

B
P e
nwry
UoYn
woOw

O

1
(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 70 / Question ID 902584 Marks: 2.00

Arrange the following events/ conferences of public administration in chronological order:

A. The Philadelphia Conference

B. First Minnowbrook Conference

C. Publication of book "Public Administration in a time of Turbulance" by Waldo
D. Publication of "The Elements of Administration" by Urwick.

Choose the correct answer from the options given below:

el
Opow
> oWy
Faae
aOw» U

Al YR Bt FafaRad uerIsi / SHaH] Pl Srarhd H§ ouafeyd S :

A. Trarsierar awia

B. WYH fH-ige g

C. AIeS! R [AREd "Ufsier USRS S U TgH 3t cqar- J&id &1 W=
D. Hid® g fafed < vdii=y % rsffeym &1 yarA

1y few v faweut § § Tl I & 999 HifF.

oo
Nw» U

B
oPprow
> 0w
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O

[N G R

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 71 / Question ID 902557 Marks: 2.00

Which of the following is not included in the list of India's initiatives in support of the US in strategic
collaboration since 20017

A. India did not offer support for US anti terrorism mission in Afghanistan,

B. India expressed opposition to President Bush's decision to withdraw from the ABM Treaty.

C. India voted with the US at September 2005 International Atomic Energy Compliance Board of
Governors meeting to declare that Iran was non-compliant of NPT.

Choose the most appropriate answer from the questions given below:

1. Aonly
2.B only
3. Conly
4. Aand B only

ay 2001 § ORGP Fedln H smRie] HUE H 4Rd & yedl &1 g1 # Fafarad 3 9 $H-oH i

&

A. EHEAH § sdafaxied spiet fiRm # yRd 3 99U 33 &1 wara =e! favar

B. HRd A Ul UH TfY A SR a1 & T & Foig &1 faxiy fasa

c. RycaR 2005 H S=RIFTE GRAMTGD Fruil ST TR H5d $1 966 H 53 ®I ¢ 9 1
& SAIUIP AN U DA H HRA A SHRID] A1y HH fosar um

=y few ae fawedl & ¥ GEr 3OX & 994 HifFT:

1. PadA
2. $ad B
3.%dd C
4. HaA AR B
(|
1
Cy 2
2
(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 72 / Question ID 902542 Marks: 2.00
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Which among the following sentences are associated with the notion of equality described by Amartya Sen?

A. The basic capability. equality can be the sole guide to the moral good
B. Morality is not concerned only with equality

C. Basic capability. equality is a partial guide to the part of moral goodness that is associated with the idea
of equality

D. The index of basic capabilities like utility. can be used in many different ways

Choose the correct answer from the options given below:

1. B and D only
2. Aand D only
3.A.B.Conly
4.B.C.D only

fwifea § 35 I a9y md J gR1 aftfa IaHar & e 4 ddg 82

A. JOFA B Hayd ifErgdr Afas YaTs &1 U A FExs g 9l o)

B. Afd® @1 HaY Pad THal d Tel o

C. GAYd Tradr Sae THH 39 A0E Hars 31 il RERE § o 99 & foar 3 9ees 8
D. Hayd aigdl & Yoo 391 SUIfTar 1w fafis i | fdar o 9l g

#rr fer o RAwed F & 88 3u¢ & T Hifew

1. HAAB IR D
2. $IAASRD
3. PAdA.B.C
4. $AAB.C.D

o1
1

O 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 73 / Question ID 902580 Marks: 2.00
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Chronologically arrange the moments of crises of modern capitalism:

A. U.S sub-prime mortgage crisis

B. Argentine economic crisis

C. Dot com crisis in IT-related stocks
D. Mexican economic crisis

Choose the correct answer from the options given below:

1.D.B.C&A
2.B.D.A&C
3.A.B.C&D
4 D.B.A&C

YD Yoilarg & Hohel B At BT BIAHHMHR oUafRYd HIfIT:

A. 7, U998 UIgH §eF (@) ddhe
B. 3ot efars afifes Tape
C. 315 2t ¥ efiig wia & Sic o1 I@e
D. Bfeg®! & 2nftfes Tobe
9 few av fawedt & ¥ @ 3 & 9949 Hifae.

1.D.B.C 3R A
2.B.D.A3RC
3.A.B.C3RD
4.D.B.A3RC

o) 4
1

0 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 74 / Question ID 902524 Marks: 2.00

Rajiv Gandhi's participation at the Six Nation Five Continent Peace Initiative was a campaign

. to end nuclear testing.

. for integration with Africans regional institutions.
. for import substitution.

. to end apartheid regime.

<ol T @1 ©: S, Ui AeTglY W= 9gd U3 9gaIT &I 353 aral JAfar oT:

da b9 =

1. THSTY (GRATY]) G&T BT FHIC PR 8
2. MBI &I R & H1Y THIBRI A 8
3. UfqYT9 9 8
4. YSTQ-ureia Al &1 AT B3 84|
ey 4

1

2 (Chosen Option)
2 (Chosen Option)

o
O 3
O

3
4
4

Question No. 75 / Question ID 902535 Marks: 2.00
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According to MP Follett. which of the following is not a principle of organisation in achieving coordination?

. Coordination as the reciprocal relation of all factors in a situation.
. Coordination by indirect control.

. Coordination in early stages.

. Coordination as a continuing process.

. Yl-Beie & SER §7164 & g1l 3 S99 99-0 HIG &1 31 T 6:

B S

1. fordht RUfS oy & goeag 9 sRe! @ Gafiid 3= giar 8
2. 39e a0 gRI 9594

3. RINP =IRON H IH9-a4)

4. gdd ufehar & 9 4 9994

1 (Chosen Option)
1 (Chosen Option)

o O O O
ABE WW NN
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Your Personal Exams Guide

Question No. 76 / Question ID 902545

Gramseci holds the view that:

A. Progress is an ideology and becoming is a philosophical conception

B. Becoming is a philosophical concept from which progress can be absent
C. Progress depends on a specific mentality

D. Progress and becoming were born at the same time

Choose the correct answer from the options given below:

C.D only
B.C.D only
3. Aand C only
4. B and D only

et &1 Sfima g b -

A. WIS U9 fERYRT © 3R faofin ue aiRe saurom e,

B. fa@ it U@ a=iFe srayron § o yifd &1 fdar srufa g
c. wifd to fady 7. R R Rk axar g

D. Wl 3R &b fH &1 35Ha Us 81 9Ha H g3 61

arr feu o Reedt F & I8 307 & 999 hifaw.

A,
A,

1.
2.

1.HAAA.C.D
2. %A A.B.C.D
3. PITAIRC
4. $ad B AR D

1
1

O

O 2 (Chosen Option)
2 (Chosen Option)
)y 3

(D)

3
4
4

Marks: 2.00

Question No. 77 / Question ID 902534

Marks: 2.00
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1
2

3
4

1
2
3
4

Which period of the evolution of public administration is referred as 'The Exploratory Period'?

. 1887-1910
. 1910-1947
. 1947-1970
. 1970-1980

AP Y & e F 59 ST &1 "I9S HTA" Hel 9idl o

. 1887-1910
. 1910 - 1947
. 1947 - 1970
. 1970 - 1980

i 1

1

Q) 2

2

O 3 (Chosen Option)

3 (Chosen Option)

O 4

4

pPrepp
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A

2 G O L

Question No. 78 / Question ID 902552

The justification for humanitarian intervention lies in-

. global interdependence
B. national interest

C. moral pluralism

D. regional stability

Choose the most appropriate answer from the questions given below:

1. Aand C only
2.B and C only
3.B and D only
4,

HFadmare] e5aY & foru e Fafafea 7 3 fead Ffta s
A. 3% R FRar

o
D. &A1Y RYRan

Aand D only

J fow aw Qe F § T I B T AT

1. PaTAANRC
2. FAAB AR C
3. Ha@ B 3R D
4. $ad A AR D

WWw MM ==

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 79 / Question ID 902512

Marks: 2.00
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Who said. 'Radicalism thinks in terms neither of nation nor class. its concemn is man: it concerns freedom as

freedom of the individual'?

1. Sri Aurobindo

2. V. D Savarkar

3. M. N. Roy

4. Deendayal Upadhyaya
forg= g1 U1 * IUAIE! A Al AP A 1 & Hay H (& Dl ¢ $9S1 i1 54 8, 39! fdar aafdama
WA & =9 H WaAa a" |

1. 41 3Rfdg
2. 1. SI. W
3.UH. U™
4. dHeaTe IUTeAT
7y, 4
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 80 / Question ID 902587 Marks: 2.00

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : There is a significant ideological difference between political parties in a polarized multiparty
system with a strong dose of dogmatic radicalism.

Reason R: Political coalitions in polarized multiparty system are viable.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R 1s false
4. A s false but B 1s true
e &) BY GU 70 ¥ b HAGUS (Assertion A) & ¥ & fla § o U 355 (Reason R) TRV & &7 F;

AU A-TF A Hd RGN [aid § WY AP qgeeld awdl # A+ad goit & 4 T ATD
darRep 3aT BT © ®

PRI R: Ydipd aged aedT & Toiliics T16d9= aawr B
SURIH YA & el #, A 5T 71w Repedl # F Fad 30gw 3R A 91 HifAT:

1. ARR T IIE IR R AP T AN B
2. A 3R R HI I € R R. A P Tgl AR el &
3. A9 S, AfPTR 3T B
4. ANTTR AfFTRIT R
o1
:

O 2 (Chosen Option)
2 (Chosen Option)

&)
O

B ww

Question No. 81 / Question ID 902518 Marks: 2.00
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1. ECOSOC
2. UNEP
3. WHO
4. UNEF

1.5, 9 off g o
2.gEg Ut

3. &g U 3l
LGP

O O O O
WWw MM ==

The Commission on the Status of Women was established vide resolution of the

fafafad fud T o eaF 1 [ae Afgarsi of uRfufa Jaeft sman @1 - &1 715 4

pPrepp
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4 (Chosen Option)
4 (Chosen Option)
Question No. 82 / Question ID 902573 Marks: 2.00
G 1 1 it 11 9 e Siforg
Match List I with List IT Qiiﬁ I ‘\!iﬂ'] I
RIS/ WU I 4| RiTueT g
|LIST I (States/ Union Territories)[LIST II (Year of Establishment) A [dore 1 966
A |Punjab 1. 1966 - -
B. |Gujarat II. |1960 2 d IIIIII :ifg
C. [Ladakh 11 2014 3 SRS i i
D. [Telangana A D. [defTHT Iv. po19
Choose the correct answer from the options given below: fFafaiad fasedl 3 4 98l SR &1 984 aﬂﬁﬂl g
1. A-L. B-II. C-IV. D-III 1. A-L. B-IL. C-IV. D-III
2. A-L. B-IL. C-IIL. D-IV 2. A-I. B-IL. C-III, D-IV
3. A-IL. B-I, C-IV. D-III 3. A-II, B-L. C-IV. D-III
4. A-II, B-I. C-IIL. D-IV 4. A-II. B-L. C-IIT, D-IV
O 1 (Chosen Option)
1 (Chosen Option)
oy 2
2
)y 3
3
O 4
4
Question No. 83 / Question ID 902538 Marks: 2.00
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NITI Aayog was established through the Cabinet Secretariat resolution dated

1.01-12-2014
2.01-01-2015
3. 01-01-2016
4.01-12-2016

Frafafea fag fafd &1 et afuay dee (ware) & Jred I Hifa smam &t o 3t 1 O

1.01-12-2014
2.01-01-2015
3.01-01-2016
4.01-12-2016

1
1

2 (Chosen Option)
2 (Chosen Option)

3

& O O O

3
4
4

Question No. 84 / Question ID 902531 Marks: 2.00

Who among the following argued that. "when NGOs are tied up with social movements. they have
occasionally changed their political agendas"?

1. Neera Chandhoke

2. Gurpreet Mahajan

3. Niraja Gopal Jayal

4. Manoranjan Mohanty

Fifeea § T bt ad U1 i » TR IRSBRI WS & Yo 3faiad & A1y Jaiford g9 & gxm §
FH-FUR TR ISR W31 7 A JoHIaP Tols § uRkaga- fean g:

1. AR1 98P
2. TRYId HETeH
3. ARSI T ST
4. FARSH Higd!
i |
1
Yy 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 85 / Question ID 902564 Marks: 2.00
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Which of the following statements is/are correct regarding Central Information Commission (CIC)?

A. CIC was constituted through an official gazzette notification under the provisions of the RTI Act 2005,
B. When CIC was constituted initially. it has five commissions including Chief Information Commissioners.

C. The Chief Information Commissioner holds office for a period of three years from the date on which
he enters upon office.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A.Band Conly

e ga o (@ o T FaR # Feffa d dsm A/ A IR/ 2

A. Tl 315 T 17167 Y1 & HUDR (3R S 341%) HAFIH 2005 F WGUH & Sidid AHE o
& 1w I foar mar oy

B. Tt o1 Tt &1 o1a 76 g3 U1 99 § € 39 TR0 YT STgad Wied uid gad 81d 81

C. T YT TGS U USTev &1 (A (@) 9 o7 ad &1 oaf 0 31U ug )R &1 &l 8

drr 2w av famedt & & T 3a A T e

1. Pad A AR B
2. PITAIRC
3. PaAB AR C
4. PITA, BIRC

2 O O g
WW NN ==

4 (Chosen Option)
4 (Chosen Option)
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Match List I with List II

List I List IT
. |Robert Cox I _|impact of international regimes on cooperation
. |[Robert Keohane | II. |[Interaction between social forces, forms of state and world orders|
. |Alexander Wendt] II1. [Constructivist idea of social structures
. [Rob Walker IV. [Emphasis on continuity and repetition in social structures

(o] [o] Le=] =2

Choose the correct answer from the options given below :

1. A-IL. B-I. C-IIL. D-IV
2. A-L. B-II. C-TII. D-IV
3. A-IIL. B-IV. C-1. D-II
4. A-ILL B-I. C-IV. D-III

G 1 1 gt 11 8 e Piforg
A1 A 11

A Riee diag 1 [eart | SfqRIPIg UfaseE! (Edn &1 gHE

[GrTTST® drdal, 99 & Wedl 3R

B.wcwied | 0. fayegaRyl & Hed 3 fobar

C_ |orciast s duge] 1L [graToid Txa-1sf & Jg=1aral [daR
sl - T4 A 3R GHIoID SXa-1 §

D. Ris d/#R V. g,

fFrafaRad fawedl d I 98l 3R &1 99 DIfg :

A-IL B-I. C-III. D-IV
A-I B-II. C-III. D-IV
A-IIL B-IV. C-I. D-II
A-IL B-I. C-IV. D-III
1 (Chosen Option)
1 (Chosen Option)

1.
2
3
4.
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Question No. 87 / Question ID 902526

In which year did the amendment to the Constitution extend the Panchayati raj provisions to the scheduled
areas ?

. 1992
;1095
. 1996
. 1997

YR HfayT Y GR1 69 oy dargdl 9 & Suasi 1 [awR Syad &3 9 dar mn

L

1.1992
2.1995
3. 1996
4.1997
o 4
1
i 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Which of the following statements have not been made by M.N. Srinivas regarding caste politics in India?

A. There is horizontal solidarity of caste in India

B. Modern technology created hurdles on the way to cast solidarity

C. There was even vertical solidarity between castes

D. There was competition amongst castes in political economic sphere

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3.B.CandD only
4.A. Cand D only

fFgifed & 9 o yRa § wifa smenfyd IoHifa & 9R H uH. v e d pu T8l §

A. YRd H F1fd & YR R &fds THeedl 3

B. MY Ul & SR wfd Fgfd (qprerddn) & Hrf § &l 3a g5
c. faftm snfaal & Heg IalR vdrerman +t o4t

D. I 3nfiies & B fafir sfasil & aeg ufaegef o

A few ot el A F T8 3T & 9 hifag:

1. Pad A AR B
2. PIAB IR C
3. %adB.C 3IRD
4. PIAA. C IR D

Q Q 0 O
WW NN -

4 (Chosen Option)
4 (Chosen Option)
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Which of the following are the basic features of Eric Hobsbawm's theory of nationalism in Europe?

A. There are three phases of nationalism that have shaped states in Western countries.
B. He defines nationalism. for instance as reinventing traditions.

C. He identifies petty bourgeoisie as a group that advocated separatist nationalism.
D. He ignored the emergence of ethno-lingustic nationalism in East and West Europe.

Choose the correct answer from the options given below:

1.A.B.Donly
2.B and D only
3.Band C only
4. A. Cand D only

TR AT H R grevars F Rigia 71 gu Rdvan PR 3 3 o g

A.JIFAIE & o =R H gfzEf 30 7 i @1 i gen g

B. 3¥ APaTE ® URMING foa € Sarexumd; RuR1sfi &1 Ggor)

C. I GUSHATGIE] APAE T YU HA a7 GG P &0 1 FH-goje @1 [&fed i
D. 39 di ud ufEedt g1y & ermdia- v Iyarg & snfaufa o1 Fersiars fan

Jrr e ae Awedt & § o 3o & 9 Hifaw

1. HPAAA. B 3R D
2. $IAB IR D
3. PaAB AR C
4. PIAA, C 3R D

1 (Chosen Option)
1 (Chosen Option)

g Q9 O @

ABE WW NN

Question No. 90 / Question ID 902528 Marks: 2.00

Which among the following is not included in the right to life under Article 21 of the Indian Constitution as
mnterpreted by the Supreme Court?

1. Right to suicide

2. Right to privacy

3. Right against public hanging

4. Right to good health
T AT GRI &1 715 o0Re] & HER [FHifdd § 9 o1 YRA™ Sfaur & sess 21 & e oilad &
SR H wfhe 7 &

1. TS 1 SUBR

2. T @1 SR

3. PR R Bidl U 91 & fGog iffiaR
4. 309 WG $1 ARHR

1 (Chosen Option)
1 (Chosen Option)
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Question No. 91 / Question ID 902591

It is interesting that John Stuart Mill's turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who. as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke. emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Toequeville did not do: he was interested in
critically analyzing a conerete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of concrete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Which one among the following clearly reflects in the writings of Tocqueville

1. Debating the validity

2. Critically analysing

3. Philosophical validity of liberalism
4. Creating a pressure on Mill

faw 1 Teriw 1 ufey SR Wl & IR 2o

7% feea § o o sgard e &1 Yool Suaifiarare € @ g1 Imifes ofadl aguad ok Sraks &
Ug & 1Y I g1 U1, forei= Aifee 1 39 a1d & 90F [301 59 USHS 8@ 4 aRiA® 4 J "WoR
fopar uT1 317 Paa db IR TR B ad T1d AT F I9g e SR Jiaei R 99 faan ik s
AME 3FHT & HIGHTAD TR TR SR YT foH a1 afdd & =9 § Sudifaiam & aqi-e aul aewd
ddhar! Rigid saftie ©9 ¥ 3@Td U1, 3R 39 Risid ¥ Sue! ok A 39 59 94y & 95d 58 a9
gy HR a1 U1 [ araa J BHd S W6 1 3| Wich @ A 3. eldiaa o o uet U1l iR o ave
wifes wfagi 3 frd o1 Rama fae ugifiarard) aifasr & grdia =P 3 ot ff, St ealfad 4 3%
TS| GHISRIRG Sqaid &1 3R SR fdan| i1 3 Taar 3ik T9e R Us g wfieardt
=RFIv BT saRgmar H1 e fasar Wy #, I §6 & GY-9TY BTG UTeR & UGS el
R R 3@ 3iR YT 3ERAE & O $o18 4 ab WTd dfadars] 9RyEd I O17a &1 U 1dd B3 B
TGPl R a9 fa | S e e Ireitg Risia 91 siafifed mrarsi & = Sy § 3eRr fdaR
& famr 1 fafiy 9 9 391 Ieayy] &1d1 ¢ | T8 S1. Sibiad - g [l 98 SGRAG] [AaRYRT 3 dedl
R Ut 37 & I91 ISR Adad S TP 319 IaIeR0 $I SEAIED [GRAY0 H=A Pt SRS a4 I
31P-31F T @A U1 379 f[A9R F 3RS & didda § St clafad & SHYH T4 ard 819 uRI &
fore Serae @1 §Had axife Tt & sfte fifte guR @1 sraxaea o
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It is interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who. as a young man. who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism,
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke. emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was interested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand. was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of concrete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Match List I with List II
LISTI LISTII
A [Tocquevelle I. [Rationalistic doctrine
B. [Young Mill II. [Democracy in America
C. |[Edmand Burke | III. [Espoused in literature
D. [Wordsworth | IV. [Espoused Philosophically

Choose the correct answer from the options given below:

1. A-L. B-II. C-IIL D-IV
2. A-IV. B-III, C-II. D-I
3. A-IIL B-IL. C-1. D-IV
4. A-II. B-I. C-IV. D-IIT

fau o TR 1 ufeu IR wHi & IR i

75 fqaaw ¢ & 97 ard e &1 Joivl Sugifitarers 9 3R g1 i ofdal aguad sik saiks o
Ue & 1Y I gl U1, forgi= Aifew 1 39 91d & 90F (01 59 USHS 86 4 aRiA® 4 9 ©WeR
faar uT1 311 Pad ab SR IR 3 ad Ta A0 & Fomg e SR Siqwi= W a9 faan sk U
AME 3FHT & HIGHIAD WR WR SR YT f5H a1 afad & =9 § Sudifaiam & aqi-d aul aewd
ddhard! Risid sraftie 9 § sfamd U, 3R 39 Risia # Su@! )Ralkw A 34 59 9dy § 9gd g o

g H a1 U1 [ arad J HIFd $1 W6 1 3| Wi @ A 3. eldiad 1 ot get 41l 3R o ave
Jwifes Hiadi 3 e o1 Rar & Iugifiarard s-ifag & amdig =P @ o i, St eaifad 3 3%
SIS JHISRIRG Saied &1 3R SRRT fdan | i1 3 TFaar 3k T8 R Ue FAfig Sfearet
=PI FI STl B 9eRH b1l W1y B, 3611 9 P GY-91Y HHa FaeR & HGTTED Tgqai
R R 3@ 3iR YT SERAE & O $o18 4§ ab WiTd diddarsl 9RUE § O1a &1 U 1gd B B
3RSl R §a fa| §i9 g e Ieita Rigia &1 siafifed araaisi & s iy & 3eR faar
& famr 1 fafiy =9 9 391 Hecayqul &1d1 ¢ | T8 SI. Sibiad = g (bl 98 SGRAG] [AaRYRT & dedl
R o S & IO IR TPad S UD 619 Ia16R0 BT TP (ARl T $i SR duar d
3131w T T@d U1 39 [GaR ¥ SARie! § diwdd 3 S claidd & 99U & ad 3149 gURI &
fore Serare ot g effe oraarsit & sifie ifas guR 3t srazgsar
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T 1 Ceit
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1. A-L. B-II. C-IIL. D-IV
2. A-IV. B-III. C-II. D-I
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4 (Chosen Option)
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It is interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who. as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke. emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was iterested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of conerete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism'’s basic philosophical assumptions.

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Young Mill was overly exposed to the scientific doctrine of Utilitarianism.
Reason R:Utilitarian doctrine had cut him off from much of what is genuinely human.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

fa g Taiw 1 9fyy iR Wl F SR i,

7% femaw & 6 o ek e &1 @il Sudifamene @ R e vifes Sidl ssaad ok Fofa @1 9g3 & 91U I
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' ab Ta AR F aor HE SR sfaeie W T e SR g% wHE e F WEATes TR W OR o1 R gm afi &
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Question No. 94 / Question ID 902592

It is interesting that John Stuart Mill's turn away from narrow utilitarianism began with his reading of the
Romantic poets. Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who. as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism,
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke. emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was interested in
critically analyzing a conerete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of conerete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Who among the following thinkers espoused feeling and intuition that influenced John Stuart Mill?

1. Locke

2. Bentham

3. Wordsworth
4.R. C. Smith

fau o TR 1 ufeu iR wHi & IR i
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It is interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who. as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke. emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was iterested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of conerete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism'’s basic philosophical assumptions.

Given below are two statements:
Statement I:Romantic poets taught Mill that Utilitarian psychology lacks in human terms.
Statement II: Tocquevelle pointed out scientific inadequacies of Utilitarian philosophy.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
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Question No. 96 / Question ID 902598

Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convince the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Given below are two statements:

Statement I: The confounding thing about policy change is that it happens neither over night nor in a setting
where other envirommental elements remain static.

Statement II: Figuring out the impact of a specific change on the observed outcome change becomes a serious
metrological challenge.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct
. Both Statement I and Statement II are true
3. Statement I 1s true but Statement II is false
4. Statement I is false but Statement II is true
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here 1s to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convince the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

In which of the following field is 'The Randomized Control Trials' used mostly?

1. Space Research

2. Defence Research

3. Pharmaceutical Research
4. Oceanographic Research
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here 1s to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convinee the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

The RCT approach is to administer an intervention to a group of recipients from a large group of
potential beneficiaries:

1. Specifically Selected

2. Randomly Selected

3. Qualified Selection

4. Pre determined Selection
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convinee the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Which of the following technique is considered as 'Gold Standard'?

1. Randomized sampling

2. Justified sampling

3. Randomized control trails

4. Snow ball method
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convinee the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Given below are two statements:
Statement I: The standard metrological is to select a group of respondents.
Statement II: In RCT Trails every individual participant in the trail oliffees from everyone else.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false
4. Statement I is false but Statement II is true
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